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Test Your SKill

COORDINATE SOLUTION
1. (b)

) \/(x-a)2+(y—0)2=a+x

= (x-a)’ +y? =(a+x)’
= y’=(x+a) -(x-a)’

= y =4dax
2.(c)
) FFI(x, y), Q(a+ b, b—a) @ R(a—Db,
a+ b) e 7 fag &
. PQ=PR.

= \/{x—(a+ b;}i2 + {y—(bjé)}g-

- \/{x—(a—b)}2+{y—(é+b)}2

= x?2—-2x(a+Db)+ (a+b)’+y*—2y(b-
a)+ (b+a)?=x2+(a-b)?—2x(@-Db)
+y+(a+b)y’-2y(a+b)

— ax+bx+by—-ay=ax—bx+ay+ by

= 2bx=2ay

=> bx=dy

3.(b) . .

) T fag @ s = (-1, 4)
a+a+4
S

= 2a+4=8
— 2a =4
a=2

4

4. C.
\ Hf, P, Q @I R & & |
PQ & 9gutal = PR &l 990l

a-3 7-3 a-3 4
= = —

5-2 6-2 3 4

> a-3=3 —Da=6

5. (a)

) x-31& & GHAK (W &1 HIHW 1y = b,
4f 9% (-6, —5) & Ted © z@fae b =
-5

s e wHETT y = -5 8 |

6. (a)

Y-8 T FERR T HT FHEOT : x=a.
4fs g8 (2, -5) § Tord! ® sefaa =2
Aufie g x =2 ® |

7. (b) |

) WA R® FREns (x, y) ® 4,
=14+5+x
e

WM 4+ x=12 M2 +y=0

Al x=8 qAA y =2
R=(x, y)=(8,2)

=

U=Ssy

4 and 0

Sq%%mw; y=5x+c
4fF T@ (4, 1) ¥ T @

We have 1= 5(-4) +c

,c=21
Bﬁ:mm%:y=5x+21
9. (c)

.'.l=-3—:a=4
a 12

Alternatively,
x+3y-8+0

Wi de. W, W
0+2 2

a+2 a+?2

m, = AB & ggural =

8+4 12
a+2
m,m, = ~1 = -6x = =-1
a+2=2= a=0
11. (a) B
) 2y—\/12.x—9=03_y:£2—x+%
sty = Y il
2
1 7
3y - x+7=0= =(—Jx———
Y YT\BSTTE
—_
HEY
1
B
tan® = L = ‘/5 =i
T+mem, 4,73 L V3
V3
So, ©6=30°
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12. (b)

PQ %1 yaurm, m; =—-=0

4-3
0—~1
1+0

PR &1 YaUl, My 1

m; —m
. tan@=|—1—21= =

1+rn1rn2
od: 6 = 45°
13.(c)

(c) == fFM, QR 7eg fag 7 |

-3-1 7-3
Mﬁ“ﬁ'&?ﬂ?\'=[ 2 » 2 )=(—2)2)
3@ fig P2, 3) 7o M(-2, 2) =t faar
Eicifkecifica et cau i
2-3
(y-3) = _2_2(x-2)

:>y—3=%(x—2) D4y -12=x-2

> x-4y+10=0
14.C.
FmE @ : 3x+4y-5=0

T m, st YEr #i yavm @

3
dd, mm,=-17 [—Z) m, = -1

4
=>m,= 3

T s T & FHEUL y=mox+C
b4 _ix+c

=3

+4fep, a% (1, 1) ¥ ToRelt 2 |

1

1=——><14r(::>c-—1~i =
3

4 1
et g ¢y = e

3
M 4x-3y-1=0
15. (d)
x+2y=3 ..iiivn (i)

|HL. (i) T (i) T T FE W, TG U
x=-3, y=3
P& fdwis = (- 3, 3)

FTwEE, Q(1, 1), R(1,-1) @ S(-2, 2)
=3

34, m, = PR 1 ¥aor = T i
2]

m, = QS =t wvr = —— =1

m|m2=—l.

Fxfre T = 90°




